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ECONOMICS

Paper : ECO-HC-6016

( Indian Economy—II )

( Honours Core )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer any ten from the following questions :
1x10=10

o 2T R @Ie w=oid Tay faa

(a) Mention one objective of Indian fiscal
policy.

SRS AT ST o Srwen Tead 91

(b) What is repo rate of the RBI?
RO e @9 @ @ &2
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(2) (3)

(c) State one direct instrument of Indian (k) Define the concept of ‘sustainable

monetary policy. agriculture’.
STHeR YRGS b1 erer e Seay 4 | T P AN e |
(d) What is meant by financial inclusion’? () What is diversification of industries?
‘R SEgEF’ A & & T2 e foasad 2
(e) Give the meaning of ‘Foreign Direct (m) State one main objective of the
Investment’. Minimum Wages Act, 1948 by the
‘oo CCHR fRfcEsr s = for | Indian Government.
V5 8b TI® SAS BIFIA A6 41 ey TgR
() What is capital formation in 5 ST
agriculture? <1 3T SCE 0
RS o oo 2 (n) What kind of manufacturers are called
' small-scale industries?
(g) Give the meaning of ‘minimum support
TeAMPT HURFFST So
price’ of agricultural produce. zqﬁaﬁ? 5 2 S gfE R
- oiREre FHAR e LT T 5 g | '

(o) Define monetary policy.

(h) State one reason for the growth of
TS NS i@ el |

service sector in India recently.

P2 TS S[ed GRS R @by F1ae :
2. Answer any five from the following questions

SeEd |
il in brief : 2x5=10
() What is agricultural productivity? wero fa epprgEd R CRIe #Aibr oy e i
eI ?
RIS 2 (a) Distinguish between fiscal deficit and

(i) Mention one method of public sector primary deficit.

disinvestment. TR T AF AR o oo AL
Jrerad) 4ol MR 9B e Soay F4 | fAefa <41 1
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(b)

(¢

(d)

(e)

22A/852

(4)

Write two characteristics of small-scale
industries.

=% SR qB1 GRS fera |

Write two merits of GST.

GST 9 701 e for o

What is demonetization? Mention one
positive effect of demonetization in the
Indian economy. ¥

g 7 SROF weAifes Ryuaas 961
YN Ao TrEd 41 |

Write any two measures undertaken
by the Government of India to improve
agricultural marketing.

R IGE IIEA T R OSSR &2
41 & @1ea1 o1 e o |

Tertiary sector in India employs two
different kinds of people. Who are

they?

SRed CRINEE 15 Rfew @R TgRe e
T | (SSTAE P 2

( Continued )

(S)

fg) Mention two objectives of the National
Competition Policy of India.

SReT AGH efecaironEe Meq o Sow
eIl

(h) State any two problems of Public Sector
Enterprise of India.

SReq qERdl 189 SR R @en qp1 e

TCER 41
3. Answer any four from the following
questions : 5x4=20
oot fral erprRd R e sifveR S fin

(a) Explain any five instruments of fiscal
policy in India.
SRS ey Afes R e Ambr wifzel
T 40|

(b) Discuss the tools of monetary policy
of India. ‘

Sed YIS SRAPRR 0 1 |

() Explain the initiatives taken by the
Government to ensure that farmers get
remunerative prices for their produce.

T (OSEF Teoffrs AN Sfoe W
ffvoesE e DI @RI 2CEErR. I
01 \
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@)

(e)

(g)

()

22A/852

(6)

Point out the various labour policies
of India.

oRed SR 2w A wngfermiy i |

Workers are exploited in the
unorganized sector. Do you agree with
this view? Give reasons in support of
your answer.

wefde qe7 Afienz ofte = | PR @@
Sf&Chl 22 FACT? (O Tegq TS e
o

What is agricultural mechanization?
Explain the role of technology in Indian
agriculture.

IR TR 57 oy gRe ayfeRuE
SR AT A

Discuss the role of small-scale
industries in Indian economy.

oo ST E TognE B S
40

Point out the main features of Indian
tax system.

SReT 9 ATER T4 capErTR SglerE

( Continued ) |

4. Answer
questions :

(7))

any four from the following

oo firal eprRd & e B s i

(@)

(b)

(c)

(@)

(e)

22A/852

Critically discuss the role of agriculture
in the economy of India.

TReN SYAee FRT SRFT SHICEATTERRSE
ST 4 |

Discuss the problems and remedies of
small-scale industries of India.

SRSy TU CCRPHR W W A
TARPTYR AT 341 |

What is service sector? Analyze the
performance of service sector of India
during post 1990’s.

GRS 57 Svb0 TR fPee SRET CRRET
FRGT i R 911

Explain the role of foreign investment
in the economy of India.

SRS e AT REGI SR
<9 |

Give an outline of the various

macroeconomic policies of India.

ooy fRfen Em wdtafes Mo s*@©
S[CEPTS A1 |

10x4=

5+5=

2+8=

40

10

10

L]

10

10

10
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(8)

() Give an assessment of the Government
policy towards foreign investment. 10

ot REEsR cFee e Qfes «fo
ST SR |

{g) Point out the various shortcomings of
the monetary policy of India. Suggest
some remedial measures. 6+4=10

Sed WISy RS SPRYPTHR SR fam |
SRUPTE fREER AT g o[ fr |

(h) Explain the causes of low productivity
of Indian agriculture. Give some
suggestions to increase agricultural

productivity. 6+4=10
SOy FAT Ay T FEPHR WA 0|
IRT TNl I QR o

oz 1

(i Discuss the role of public sector
industries in the economic development

of India. 10
TReq THASE THETS IH@ 6T TR
ST oAl 41 |

() What is agrarian structure? Outline the
agrarian structure of India. 4+6=10
FRere A 2 ST FRe© ST euTS
AR 41 |

* * %
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